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1	Introduction
[bookmark: _GoBack]This contribution provides a text proposal to TR 38.825 to capture that measurement gap enhancement is required to support various TSN traffic based on its own requirement.
<START>
[bookmark: _Toc528239057][bookmark: _Toc528838256]6.2	TSN use cases, scenarios and architectures
Editor’s note: RAN3 responsibility
[bookmark: _Toc528239058][bookmark: _Toc528838257]6.3	TSN performance evaluation
[bookmark: _Toc528239059][bookmark: _Toc528838258]6.3.1	Requirements
Editor’s note: RAN2 responsibility
[bookmark: _Toc528239060][bookmark: _Toc528838259]6.3.2	Physical layer aspects
Editor’s note: RAN1 responsibility
[bookmark: _Toc528239061][bookmark: _Toc528838260]6.3.3	Protocol aspects
Editor’s note: RAN2 responsibility
[bookmark: _Toc528239062][bookmark: _Toc528838261]6.3.4	Radio access network aspects
Editor’s note: RAN3 responsibility
[bookmark: _Toc528239063][bookmark: _Toc528838262]6.4	Accurate reference timing provisioning
Editor’s note: RAN2 responsibility with potential network interfaces impacts handled by RAN3
[bookmark: _Toc528239064][bookmark: _Toc528838263]6.5	QoS and scheduling enhancements
Editor’s note: RAN2 responsibility with potential PHY impacts handled by RAN1
According to TR 22.804 [3], TSN traffic needs to be transmitted within bounds, e.g., 1ms. In the meanwhile, the network may configure a UE to perform measurements and report measurement results. According to the TS 38.133, the length of measurement gap could be configured from 1.5ms to 6ms depending on the frequency of the serving and target cell. Even if the measurement gap is set to 1.5ms, the QoS requirements for TSN traffic cannot be met for a UE in gap-assisted scenarios. Thus, it is necessary to enhance the measurement gap related operation in order to satisfy the QoS requirement as well as guarantee the coverage of a UE. For example, a UE can skip the measurement gap or network can indicate to skip the measurement gap when TSN traffic collides with measurement gap.
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